Name:  _________________________________________  
Date:  ______________________________  Unit 6 Homework

Forms and Zeros of Polynomials Homework

Directions:  Be sure to show all work, communicate your thought process, and justify your reasoning.  Remember to check that your answers are complete, correct, and reasonable.  Do not forget to complete the “Throwback” problems!  (
(A)  Factor each polynomial completely to determine its zeros, as well as the multiplicity of each.
1. 
[image: image13.png]1.3x3(x - 10)(x + 10)
Zeros: -10, 0 (M.3), and 10

3.(2x2 + 3)(x + 4)(x - 4)

Zeros: -4, 4, i(3/2), and -iV(3/2)

5. Zeros: 8 (M.2), -iV7 and iV7

Standard form: x4 - 16x3 + 71x2 - 112x + 448
y-intercept: (0,448)

7. Zeros: -4/3 and 2 (M.3)

3x*- 14x3 + 12x2 +24x - 24
y-int: (0,-24)

9. (x - 3)2(x - )(x + i)

x*-6x3+10x2 - 6x +9

11. (x - 2A)?
X2 -4A+4A2

2.(x+6)5(x - 6)
Zeros: -6(M.5) and 6

4. (3x-5)2x + 1)
Zeros: -1/2 and 5/3
6. Zeros: -2, 0, 1(M.2)

3x4-9x2 + 6x
y-int: (0,0)

8. (x-3)2(2x - 1)
2x3 - 13x2 + 24x - 9

10. (x+5)(7x - 3)
7x2 +32x - 15

12. w(w - 8)(2w - 3)
Maximum Volume:
8.18 cubic feet
width: 0.71 feet
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( B)   State the zeros, as well as the multiplicity of each.  

Then rewrite each polynomial in standard form, and identify the y-intercept.
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( C)  From Your Book, 

Complete the Following Related to the Irrational/Imaginary Root Theorems

p. 333 #13 – 23 odd

( D)  Write a polynomial function for each situation, based on the zeros.  

Write your functions in factored form, and then convert to standard form.  

Make sure all coefficients are integers! (
8.  Zeros:  3 (M.2) and ½ 




9.  Zeros:  5i and 3  (M.2) 

10.  Zeros: -5 and 
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11.  Zeros: -2A (M.3)

( E)  Solve the problem, and be sure to show and explain all work.
12.  For a project, Ryan must design a box that is eight feet shorter than it is wide, and 3 feet shorter than double its width, in such a way that the box can hold as much volume as possible.  Ryan is also restricted to a width of no more than two feet for the box.  Determine the maximum volume such a box can have, as well as the width Ryan should use to create the box for this project. 

(  Throwback!

13. Write the letter of the equation that corresponds to each graph in the provided boxes.
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a.  x = -7

b.  -7 = y

c.  3x + 9y = 21

d.  3x = 9y - 21

14. Select the true statement.

a.  All lines are functions, and the domain and range of all lines consist of all real numbers.

b.  Some lines are functions, and the domain and range of all lines consist of all real numbers.

c.  Some lines are not functions.  For those lines only, the domain contains all real numbers, but the range contains just one value.

d.  Some lines are not functions.  For those lines only, the range contains all real numbers, but the domain contains just one value.

*Also page 334 # 55 and 56!
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Solutions:
Part C from the book:

13. -(5, (13



15.  1 + (10, 2 - (2



17. 2 – 3i, -6i

19. x3 – x2 + 9x – 9 = 0

21.  x3 – 2x2 + 16x – 32 = 0



23. x3 – 6x2 + 4x – 24 = 0

Throwback:

13.  A, C, D, B


14.  D


55. (-6, 2)

56.  (5,0)

_1384680852.unknown

_1384766345.unknown

_1384766752.unknown

_1384680908.unknown

_1384681078.unknown

_1384680612.unknown

_1384680761.unknown

_1384680585.unknown

